Chapter 7
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15.  A.  Fixed cost = 300,000, variable cost = $8 and revenue = 23X.  Thus, 

23X = 300,000 + 8X.  X = 20,000. 

16.  Product A = 600 units (45,000/75)

       Product B = 602.27 units (53,000/88)

     Thus, product A has the lowest break-even point

17. Benefit $2 million. Cost $11.25 million.  No.

Set an arbitrary amount for sales, say $100 M.

Sales increase by 10% = $100 M x 10% = $10 M.

Benefits: Profits increase by 20% of the increased sales = $10 M x 20% = $2 M
 

Costs: Increase product costs by 15% = ($100 M x 75%) x 15% = $11.25 M

Costs exceed the benefits, thus the new feature should not be added.

